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Sem. IV - MOP
Mang. Acct.
Full Marks :70
Pass Marks : 28

Answer all 20 questions from Group A, each question

carries I marks.

qu-Ad gl 20 9991 & IR &, UAS 0 BT 04 1 AT € |

Answer all Five guestions from Group B, each question
carries 4 marks.

1u-B & wft ufag wedl & oo &, udle wEd &1 uH 4 A E 2

Answer all Five questions from Group C, cach question
carries 6 marks.

7u-C ¥ 9wl ufa 931 & TR 2, 4dF 0T & A1 6 AF 2

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated,
UEh 9 & 9l A9 &1 o UE & W (AR $a )
€1 ARy, Sy d ofid FE o Wed ¥ |
The fisure in right hand margin indicate marks.
Tt uind @ ofa Yol @ gaw &
P.T.O0

https://www.sbtediploma.com

wod ewodipaigs mmm//isdiy

wod ewo(dipaiqs mmay/sdny

1626402

1.

Choose the most suitable answer from the following

options : 1x20=20
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watfered Suga fadey &1 gaax fad -

(i)

(1)

(11}

Sources ol funds may be generated by:

{a) Transaction between current asset and
fixed asset

{b) Transaction between current assets and
current liability

(¢) Transaction between fixed assets and
fixed habilities

(d) All the above

HUrg B Scafa 8 dddl B

(GT) dTe], T Uq IRy awufaat
@ ey A9 29 |

(@) =t wwafial ud dre] qrfacal
$ WY o9 ]9 9

(@) worhl Rl g e gifdal
$ 95y ofd o9 4

(/) Suyad &+

The base for providing depreciation is
{a) Total cost of an asset

{b) Market price of the asset

(¢) Total cost of liabilities

{(d) None of these
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{11}
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& T BT JTENR & |
(@) vy &) o drrd
@) wafr &1 9aT9R g
(b)) aifaca & | arr
(®) 379 A »1g =Tel

Increase in the amount of prepaid
expanscs results 1s

(a) Decrease in cash

(b) Increase in cash

{c) No effect on cash

(d) Nonc of these

gded el &1 w2l 4 qfE o1 aRemm
eldl 2 |

(31) Adde A S

@) Aws A gfg

(@) AHs R B gHTa T

(@) ™ ¥ P A

Trading and profit and loss account 1s
prepared.

(a) For a particular period

(b) On a particular date

(c) For the whole year

(d) None of these

P.T.O
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{v)

{v)

{vi)
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2aTRe vd am—arfa @rdar g=man
SIGIE

(@) v faety aafyr & fav

@) va fauiy fafsr @ fag

() wiyel ad @& feryg

(&) 79 9 BIg 7

Which of the following is non-currents
assets 7

(a) Trade mvestment

(b) B/R

(¢) Prepaid expanses

(d)y Debtor

fr=feafaa 9 | @9 W) 91g A% arq
Hwfa 8 ?

(31) amaR® faf~rar

(@) urea faa

(1) ydued @y

(7) IR

The parties to the joint ventures are called:
(a) Partners

(b) Conventurers

(¢) Sharcholders

(d) None of these
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(viy UYFd IUHH B UHHRI B HEl Sl
2. (viiiy  fa WA @RT IguTd feTear gedn
(31) wrgler el
(/) T ared (31) v TSGR @ W49 W
(@) siwemd (@) U GRIER B IdHIY TET G

(@) g @ B (8) v W= B gy W
(&) te wEar & faarfaar 819 w
(vit}  Investment can be
(a) Current assets (ix)  Management accounting is
{(a) Subjective
(b) Objective
(¢) Subjective and Objective both
(d) None of these

{(b) Fixed asscis
(¢) Intangible assets
(d) Either (a) or (b)

(i) faferarr @ aedanr @

wod ewodipaigs mmm//isdiy
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@) are] waRy (ix) vaygsryg od@ifafer

@) e wwRy (a1) fasaard

(\) srgs gl (@) a¥qforss

(@) (@) ur (@) &8 A (|) fawera va awfrs Q=

(@) 39 9 I3 Tl

(viii) Sacrifice ratio has to be ascertained at the

time of (x)  The balance of consignment stock would be
(a) Admussion of a partner shown :

(b) Retirement of a partner (a) On the habilities side of the balance sheet
(¢) Death of a partner (b} On the assets side of the balance sheet
(d) Insolvency ol a partner (¢) On the credit side of the trading A/C

(d) On the debit side of the trading A/C

P.T.O
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Uyl Wi & 9y &l fEwarn s
(@1) fagr & <1fda uer 4

(@) fagr & wwafd uer A

(4) =R @rdr & sfse e |

(¢) camuk @rar ® Sfde uer §

Goods means

(a) Commodity to be bought and sold

(b) Commodity to be bought but not to be
sold

(¢) Commaodity to be used as an assel

(d) Commodity to be consumed

Hrel &1 3ef 2 -

(a1) wa 3R fAwa &1 aFare 9%

(@) ®9 =g 9 4l SiEarel! avg

(@) yufa & w9 A derR &) Adrell
ay]

(@) SUAIT HIHA $H1 IE

Nominal accounts related to

(a) Assets and liabilities

(b) Expenses, Losses and incomes
(¢) Persons, firms and companies
(d} Customers and creditors

_ P.T.O
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(xiii)

(x1ii)

{(x%iv)
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srardfas @rar fead w&fea gar & ?
(a1) o) 9 dgaen @

(@) =ga, sl 9 Imal 49

(W) «fea wd 9 sufal |

() uTEd! Td ARl W

Which of the following is not the tool of
management accounting ?

(a) Human Resources Accounting

(b) Standard Costing

(¢) Budgetory Control

(d) Decision Accounting

frret % & @9 a1 yagda aEfafsy &
B 8 2 |

(@) s=da S dEiasd

(|@) warg «rra fafer

HESHIBEEEN

(&) fvta dwTe=

Cash flow statement is based upon
(a) Cash basis of accounting

(b) Accrual basis of accounting
{c) Both (a) and (b}

{d) None of these
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Abs warg faazer amenfRa 2 -

(@) d@H B Uds @ R G
(@) d@iEHT & IuTG & ATIR G
(W) (1) wa@ (3) <

(@) 359 & @I 9

The maximum number of partners in a
partnership firm for general business should
be  httpsy/www.sbtediploma.com

(a) 20

(b) 30

(c) 40

(d) 50

A IR & fere Arfler i 4
e &Y affrean e g0 arfzw
(a1) 20

(d) 30

(d) 40

(&) s0

[nventory control is one of the most important

techniques of financial control because :

(a) It aims at minimizing the blockage of
capital in inventory

(b) it minimizes the cost of product

(¢) It minimizes storage / preservation cost

{d) All the above

, : P.T.O
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NERIEIK:] Udh & Fuife g8 :

(a1) wmfiray § waAdare! goft S ~gaan
TR G AT gredl 8

(@) ¥ IUreT @ &1 YAdH S B
dseT BNl ©

(W) 9% WeRY Yd a3 uR giAdrd
EYETd & @dl &l HH Hal &

(a) Sugad g+ |

Average due date 1s

{a) The date on which bill of exchange matures
for payments

(b) The date on which different amount due
on different dates may be settled without
gain or loss of interest

(¢} The due date of which principal amount
and interest payable arc equal.

(d) None of these

sitad Hara fafer 2

(@) @& fafyr fora o e A & forg
gRuag gar @

(@) @& fofyr e w A fdal «w
¢ Ry &1 fFeerT & & Qe
cllH ] l_ﬂ'fbi &1 foar '*-!T{ﬁl

(@) fora fafsr ux erert vd 9w w2y
QTS HHIA BT 8 |

() 39 4 &I 7
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Personal A/C 1s related 1o :

(a) Assets and liabilities

(b) Expenses, Losses and Incomes
(¢) Customers and Creditors

(d) Persons, firm and companies

ffeaird @rdar &1 Wae 2 |
(1) aRumfRral vd Qaae 3
(@) =3, sl ¢d smay A
() ute®dl Ud d-enl 9
(7) =faq, wd gd wufral @

Balance sheet 1s prepared :
(a) For a particular period
(b) On a particular date
(¢) For the whole year

(d) None of these

faresr q-mar wrar 2 |

(31) va arafer-faviy & fav
(d) ua faeiy fafdr ux

(@) R ad & fag

(&) g7 @ ®Ig 7€
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Answer all Five Questions.

(xx)

[®x)
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Payment of Honorarium to secretary is
(a) Capital Expenditure

(b) Revenue Expenditure

(c) Cash Expenses

(d) None of these

afyg &1 wEed A @ ?
(a1) gofra <

(@) smawTa @y

(&) Ihs Ay

(@) 0 @ P T

GROUP B

4x5 =20

afl qfg gy & 9o o

2.

What do you mcan by financial statcment ? What
arc the objectives of financial statement ? 4

fa<ira fqavor @ ang Far @ 2 ) fa<ha
faazor & S<vg @ € ?

OR(31214dT)

What are the problems that usually arise on the
admission of a new partner 7
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T UEIeR @ Wad3 & 999G BT A
10 Sadl & ?

What is the objects of Journal ? 4

AEAHET & RT IS ¢ ?

OR(312rd0)

What are the limitation of fund flow statement ?
&Y yare faawer &7 "Wl a1y & ?

What are the different method of providing
depriciation ? Explain in brief any two of them.

4
saiead & Rf=r adis aar 2 2 999 9
fodl <1 adiel o Widra o &
OR(3720dT)

What is the importance of Management
Accounting
yegda dQrfaf & @ 7g@ 27
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What are the problems that usually arises on
the admission of new partner ? 4
T WEIER & 43 & A A1 Bid—ble
o gawg SodY & ?

OR(3127d1)

What 1s cash flow statement ? What is the
importance of cash flow statement 7

JAps yare fAavwell & 2 ? Uas wyae
fqazofy &1 @ v € 7

What is the difference between Presidency Town
insolvency Act and Provincial insolvency Act ?

4
g~ ereq fearan arferfFram sty ar=<iar
fearen aiftrferaa & aar siae 2 ?

OR(3121dT1)

What are the characteristics of consignment 7

Hidl & dTddl<l &) a1 fagsad & ?
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Answer all Five Questions.

. . . 6x5=30
a4l uTg ysAl & S9N o X

7. What is Ledger ? Is it necessary to post all the
transactions n the ledger.

T 7 & 7 @7 9 o+ @5 B @ndr
# forg=m aaeas € ?

OR(3121dT)

What 1s Joint Venture 7 What are the characteristics
of Joint ventures ?

HYdd AEd 1 8 ? WYdd HIEd B
fagryard aur @ 7

8.  What is Fund flow statement 7 What are the

main characteristics of Fund flow statement ?

6
Iy ydre faaver @1 & ? &Iy yarg fageo
o qeu fageand @ar 8 ?
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OR(31204T)

What do vou understand by Current Account 7
Why and how 1t 1s prepared ?

qTel, @rdl | A9 FIT ¥Hd 2 ?
JE @l 3R D 9T wrar g ?

What do you understand by Receipt and payment
account 7 What are the main features of Receipt
and payment accounts ? 6

wiftd d H{IrarE @rdar @ Iy 7 9Hed g ?
it ua HaraE @d @ gea [Qewan a1n
g ?

OR(31274T)

How 1s the amount payable to a deceased partner
determined 7 How would you calculate the amount
payable to the representative of a deceased

partner ?

HEIGR # g R Sus f2e &1 Pl
foa g fbar Sirar @ ? ¢& ga |iEiear
@ gfafafer o1 @ Wl &1 v smu fea
UHIR HA ?
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10. What 1s Budget 7 Explain its preparation process
and classify it. 6 OR(312147)
gulc @Il & 349 daR &3 @ faftr qard ue hat is the T R S SNSRI
. A aig gd What 1s the role of financial manager in mimimizing
fafir=1 uer @ 9vicl & Rdgar o3 | investment in inventory
R amEfBral d =gAaw goft fde 4 faf
(3214 yees Bl T e & ?
What 1s Hire - purchase system 7 What are the
advantages and disadvantages of Hire - purchase
system 7
ok ko

forar wu ugfa aur 2 ? feaar wa ugfa
@ AT Ud SIY @7 8 ?

What 1s meant by dissolution of partnership firm ?

wod ewodipaiqs mmam,sdny
wod vwopdipaigs smmmssdny

Differentiate between dissolution by court and

dissolution by notice. 6

Hrflerll wd & W g &1 @d awd 2 ?
ararery g1 9 A W e Aifew g
i fbd WA @ 3R I TWEe Y | _ _
https:/www.sbtediploma.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
30T g Ao e 3R 10 wdr o,
Paytm or Google Pay &
P.T.0
https://www.sbtediploma.com https://'www.sbtediploma.com

wodewiodipaigs mmm//isdiy



